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Q#1 90% circle the correct answer.

1-If u=4j+3kv=7i-3j+k then proj u

21, 9 3
a —i-—j+—k
5 3 5

Q#2- The volume of the box determined by u=i+j+k, v=2i-j+k w=3i-2j+5k
is
a.5

b.6
c. 10

@11

Q#3- The equation of the line through the point (2,1,3) and perpendicular to the
vectors u=2i— j+k and v =3i-2j+5k is
a. x=2-3,y=-1+7t,z=3-t ,-0<t<®
@x=2-3t,y=l—7t,z=3~t,—oo<t<oo
C. x=—"2+3,y=-1+7t,z=3—¢,-0<t<®©

d. x=2+43t,y=-1-Tt,z=3—t,-0<f<®



Q#4 The set of points in space with coordinates satisfies
x?+y?+z?=25,ypy=4 1is
The circle x> + z?* = 9 inthe plane y=4

b. {(0,4,3),(0,4,-3) (- 3.4,0)}
c. A set of 8 points
d. Thecircle x> + y2 = 25 intheplane y = 4

Q#5 The equation of the plane through (3,- 1,2 ) perpendicular to the
X — axis is

a x+ y+ z =4

b. 2 =2

. p==1

x:3

Q#6 The angle between the diagonal of a cube and the diagonal of one of its faces
is

a. I1 /3

b. I1 /4

ol

d. cos ’1(1 i 3)

Q#7 The area of the triangle with vertices A (1,1,1), B (2,1,3) and C(3,-1,1) is

@5 b) 4

¢) 5 d) 6



Q#8 One of the following is not always true
(@ ixv=Vxi
b. @ x (V+w)=(l x V)+(i x W)

xj=4&

~.

G
d.7.j=0
Q#9 The distance from the point (2,1,3) to the line x =2+2¢,y =1+6t,z =31s
a. 3
b. 4
B 3
@ o
Q#10 The distance from the point (2, -3,4) to the plane x+2y+2z=13 is
@ 3
b. 4
c. 5
d. 6

Q#11 The angle between the plane X+) = 1 and the plane 2x+y -2z =2is

a. I1/6
b. I1/3

©T11/4
d. I1/2

Q#12 The line x=-1+3t,y =—2, z=>5¢ meets the plane 2x -3z =7 at
a. (4,2,5)
b. (2,-2,-5)

® (-4,-2,-5)
d. (1,0,-5)



Q#13 The equation of the line of intersection of the two planes 3x -6y -2z =3 and

2x+y—2z=21S
g x=1+4¢f, y=2+2¢t,z=151
b.x=14t,y=22,2=15¢
@x=1+14t,y=2t,z=15t
d. x-14t,y=2-2,24,z=15¢ :
Q#14 The equation of the surface is :
a2 +y® +z? =4 I,,
box?— yz _ Zz |

2

@x2+y2:z

d x*+z?=¥"* e

Q#15 The length of the curve

x = (2cost)i+ (2sint)j+ (N56)k ,OstS—Z—iS

b)2x

T d) =

M@J NSRS

Q#16 The unit tangent vector of the space curve
r = (3sint)i+(3cost)j+ (4t)k is

a‘%(3COSti+3Sintj+4k) b. —§(3costi+3sinz‘j—4k)

© 1/5@3costi—3sintj + 4k) d. —1/5(3costi—3sintj + 4k)



Questio#2 (19%) Find

Xy —y—2x+2

(x,2)=>(1,1) Y1 ’

Limi ™ X3 -4-2X4> L

X #1

a_)Lim

) -\
(7(“’5) - (1) X (x\‘j)——P(hl) ]
oAl %=\
—_-_‘\\'Y"’\ (_?_,7:-)—(:*”"—-
(rv) = () (x-H
. W-2 = - | -
2 = \\W\ A
b) LT(I:W(O,D);Q—%’W ) =2 () (k) - __Y_J‘l'__
Lim 85 0 kex s b SRa kY
‘) > (o) K> T A X2 2X> ()2l
(%) (x\v)).-a(ow) Y = s s
=k  nef €XISE
— A l?} o R Aoes n

;,)L\imi\‘

Questio#3 (18%) Let f(x,y)=1In(x>+y —4) . Find
a) The domain of f 7(7'._4-‘3“_':.11)0 = )(3"—%317‘1

X -
b) The boundary of the domain X"+3* = 1

¢) The range of f ("" o0 | p(_))

d) Describe The function level curves and sketch one of them
2 I <1 W
caveles l“(x"‘—’r 4 "“Lﬂ i

K”‘-\-f]?' = LI-—fE»C ;) €2°




